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Verification

1. A[] not deadlock
e DeadlockO| QLC}.

2. A[] money_total<=5000

o =0|50008= H= 4= QiLCt.

3. A[] not (machine.coffee and machine.milk and machine.refund)

o ZU|2t ZTALY B2 A0 AF &[X| BE=Ct

4. retund_lock.refund_off--> refund_lock.retfund_on imply
money_total>0

o =0|od =1} B 2 If Br2tSEl= AR (ON) RULE.

| —




5. cotfee_led.led_on -->cotfee_led.led_oft imply money_total
<500

o =0| 5003 0|2 M IO, 23 LED= 7H X (OFF) UL}

6.machine.wait --> machine.finish imply coffee_and_milk_time<10

o CH7|AVEHOI M USERZF AT LF U HES S22 Al0f
10% OFof| H|Z 0| LEetof 3tCt

7. A[] machine.coffee imply coffee_and_milk_time==0
 machine.coffee 2FEJO{| Al A|ZFO| 02 2 A|AFEICE




8. A[] machine.finish imply refund_lock.refund_oft
o AL S0 2 I BretHE2 HAXN QUL

9. A[] machine.refund_complete imply coftee_led.led_oft
o Hist |1 QU2 O HI|et B3 LEDE= THAN ULt

10. A[] ((cottee_led.led_on and refund_lock.refund_on) imply
money_total>=500)

o =0|500% O Il Hu|f A LED7} 74N Q10 Bzt
(Lock_on) 7}-&S}LC}.

11. A<> ((coffee_led.led_off and refund_lock.refund_off) imply money_total
::())

o OJfH &30 =0| 0@ & [ HI| 3 LED7} 7HA U1 EELHO|
%ﬂ'%(Lock_off) o} LC}.




12. A[] ((cottee_led.led_off && retund_lock.retund_on) imply
(machine.wait imply money_ total <500 && money_total>0))

o =0|0Y Lt 31 500 XS Y7 MEH01|)\1
FT| LED= 74X Q)1 §F8} b e 2 ZF=L},

13. cottee_led.led_off --> cottee_led.led_on imply
money_total>=500

e =0| 5008 O|ard [ |, 23 LEDE= 7{ M (ON) QUL}.

14. A[] ((machine.coffee or machine.milk ) imply coffee_led.led_on)
AL LEDOﬂ =0 ARONAUOOF AL|Lt IS TS
=




User

L Money
¢ 10,100,500,1000

coffee button!

milk_button!

refund_button!

coin!




Machine

refund_complete

" maoney_total<=5000 refund_|ock off!

™ o money total=0 Qy_total>=500

money total<=
milk_|l2d lamp. offt

money total<500

ss:intf0,3]
i coin®?
coffee_and_milk_time:=0
money_total>=500 m_sum(ss)

coffee_and_milk_time:=0
money lotal<500
coffee_milk_|led_lamp off!

money total=0

d button?

money_total=—0

coffee_and_milk_time:=0
: moneay_total==500
milk milk_buttan?

money total=money_total-500
refund |ock off!

fl niEh A

coffee_and_milk time<10

refund_|ock offl

money total=money total-500 coffee_and milk_time:=0

money _total==500
coffee button?




Refund lock

e Refund
® Push refund button

on?

refund_off

refund lock off?

refund_on




Coffee led

® (Coffee and milk button

on?
money _total>=500

coffee_milk_led lamp_off?




4 ™
A= 413}

Edmelles
A[] (leoffee led led off &4 refund lock refund on) imply (machine. wait imply money total<S00 &4 money totalA))

B3 (coffee led led off and refund lock refund off) imply money total ==0)
A[] (f(coffee led led om and refund lock refund om) imply momey total’=500)
A[] machine refund complete imply coffee led led off

A[] machine. finish imply refund lock refund off

A[]1 (machine. coffes or machine milk ) imply coffee led led om)

&

m

A[] machine. coffee imply coffee and milk time==0

machine. wait --* machine. finish imply coffee and millk time<10

4[] not deadlock

4[] mone v tot a1 4=5000

A[] not [machine coffee and machine milk and machine. refund)
refund lock refund off--> refund lock refund on imply money_total
coffee led led off - coffee led led on imply momey total’=500
coffes led led on ——rooffes led led off imply momey total <500
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